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39.1.3; 4b (71275 85 8"511) 2 5b (570p)
I Analysis of onan’s “compromise” opinion — maximuim of 24 hours retroactive nkmv, or to most recent np>72 (if less)
a  ~r77z wnon eschewed *xnw, who made no »v, as well as Y91 who went too far (examples of noynn)
i Justification: of 2"! noynn (to most recent nT'pa even if within 24 hours) — parallel construction
b /7227 rationale behind 1127’s ruling
i “tester”: a woman feels when 0T is coming (same as 2" reason provided for 'xnw above)
1 Challenge (»73A): if so, no need for any retroactive nkmv (indeed — nN17 was just testing »ar)
ii  Answer: per YRnw: 'non mandated that a woman check every morning (to confirm manv she worked with at night)
and every evening (to confirm status of m1nv she worked with during day)
1 And: since this woman didn’t obey this ruling, she is fined to “lose” one nny (night or day)
2 Challenge (8275 977): sometimes, she’ll lose more than 1 extra N (e.g. if she saw n7 at noon, loses back to noon)
(a) Answerl: standards must be unvarying
(b) Answer2: we don’t want a sinner to gain (by only losing 1.5 mw)
(i) Split the difference: if she didn’t check due to V1R (no consideration of 15w1 ®vVn; standardization holds)
I Analysis of exception (to rule of retroactive nkn) for woman who has non
a  Suggestion: mwn follows X017 7 (against 1217), per Rn»71:
i ~r272 8™ only allows 4 women to have rule of 1nyw 17 (see next mwn)- N9IN1, pregnant, nursing and Nypr
1 ~o17 77 any woman who has a non has rule of nnyw n»1
2 Rejection: could even follow 1127;
(a) Explanation: 13271 only disagree with RoyT " if she sees at an off-time; but if she sees at non, nnyw n»1
(i) And:our mwn is discussing a case of her seeing “on time” - and even 1111 agree
(if) Implication: RoYT "1 holds that a woman who has now is always nnyw 071, even if she sees in “off-time”
1. Challenge: who, then, is the author of this Xn»1a:
a.  N:1 7772 Anopir any woman who has a noy - her onna are retroactively n/xno
i.  Reason: if she were to see in an “off-time”, she has nkmv retroactively for 24 hours
ii.  Shall we: attribute this to 1329, and not to Ro¥T '7?
iii. Block: even ROYT " agrees — he disagrees about seeing nnoy nyw3, agreeing nnoy nywa ROW
iv. And: our mwn is referencing case of "N NYW & follows X173 only — & RNAvVIN is consensus
2. Challenge: why not read it inversely (as we did before) and attribute Xnavin to 13171 (only)
3. Answer: since we could read it X%p% (that suggestion) or XY (our conclusion) -= we prefer XRmN5
(iii) Analyzing ‘D1 only women who have a non have a split between their n”&7 (nnyw 1) and ona (y1and)
1. Implication: other women who have rule of jnyw 1’7 have nnna judged as per right now — like 0”&
2. Must be: authored by ®"an3 (cited by YR1nw) — n'nnd of all women are y1an5 ®nv, but women who have
rule of nyw 177 - their n'nnd are like their 77X (i.e. no retroactivity) except for a child who is not yet
old enough to see 07 — even if her sheets are soaked in blood, we raise no concern
a.  Challenge: R"am seems to completely reject nnni — for women who have inyw 17 ("ona nnd Pr”)
b. Answer: statement doesn’t mean that they have no nmn; rather that their n'nns aren’t y1an%
i.  Implication: p"n holds that nmna of no 1% YW W1 are Y19nY RNV — must be n™
ii.  Per: 8n»a - all women, even those who are 1nyw 17, have 1919 nRmv for onna
iii. And: "am dissents and rules that the nnn3 of those women are judged like their n7x
iv. And: only a girl who has reached the age of D11 (M YW 1) has Dnma
III Analysis of last clause in Mwn — 0771 NWHNWYN (counts as a NP>T1a)
a  Sxmww: an 1 used before relations does not “count” —since she is hasty to check (as she wants to cohabit) — not careful
i Therefore: she won’t carefully put it into crevices etc. to check carefully
b pr7anp: uses the term 01y — doesn’t that refer to 1 before and 1 after w»nwn (and they both “count”)?
i Block: the plural refers to “his” and “hers”, per R:1 1T —
ii  Analysis: if we agree that nr1y in our mwn refers to before/after, we understand the need to teach — even though she is
hasty, it is still valid
1  But: if both are after wmwn — it should be obvious that it is a valid np»1a
(a) Justification: perhaps we should be concerned about a small drop of blood, covered in 1"w — %"np
2 Or: even though she is obligated to check both before and after, only the one after “counts” like a nTpa
(a) Challenge: nwn uses "MwnwNN” (a: read "MYNYM”)
IV Final phrase in nywn — needs to be stated, 8”10 that we’re only concerned about the loss of m1nv for 24 hours,
a  but not: back to the recent n7pa — HY"np that the wnwn Y “clear” out even from recent NTp9
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